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A B
b (N/mm? 70
h (mm) 100
d (mm) 77
L (mm) 600
a (mm) 250 200
L-2a  (mm) 100 200
fo  (N/mm? 30
D (mm) D2
D6x2 D6x2
f,  (N/mm?) 375
416 416
D (mm) D4x 6
fuy  (N/mm?) 375
S (mm) 100
p ) 0.0117 0.0117
W ) 0.163 0.163
Pw ) 0.00359
P () 0.0449
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2, ok f/=30N/mm?

21 A
- 4
W = b-h?/6 = 70mmx (100mm)* /6 = 0.117 x10° mm®
f, =0.42x f/7* = 406 N/mm? f, f,
M, =W f, = 0.475x10°N - mm= 0.475kN - m
- M _ 2:-0475KN-mM _ o0
a 0.25m
- 6
V, = B, B,/ f..bd = 6.68kN
B, =41yd (d:m) By 15 15.
B, =3/100p, B, 15 15. p,=A/bd A,
- ﬂn =1
f_=020f"
B, =1.90 B, =15 B, =1.90

B, =105

f.=062IN/mm® f bd =3.35kN

- 4

_ 200kN / mm?

K=-n np)? + 2np = 0.334 et LLIE
p+(np)* +2np P 28kN / mm?

0.0117 = 0.0836

M, =Af (d-x/3)=bd?- pf,(1-k/3)

= 70mmx (77mm)? - 0.0117 x 416 N/mm? - (1— &334] =1.80kN-m



2-M,  2x1.80kN
a 0.25m

P - M _14.4kN

f
M, :bdzpfy-(l— 2y )

171,
2
_ 70mms (77mm)? -0.0117 x 416 N/ [ 1 0117 X 416N MM |- 1.83kN-m
1.7x30N/mm
p 2 M, _ 2xL82BKN-m_
a 0.25m
- 6

V, =V, +V, =13.0kN

V, = BB, f.bd =6.68KN

n "vc

v - AfwZ _ 2512mm”-375N/mm’ - 67.0mm

s = 6.30kN
S 100mm

A, = 2-D4=2x1256mm’ = 25.1mm’

z= jd = d/1.15= 77mny/1.15 = 67.0mm

P, =2V, = 26.0kN

One Point Advice
M V P 1 SFD BMD
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M= kKN-m| M= kKN-m| P= kN | P= kN
V= kN | V,= kN | P= kN | P= kN
) )
Prax™ KN |Prmax= kN
Pmax
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KN-m KN-m
KN kN
kN kN
kN kN
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KN-m kKN-m
KN kKN
KN kN
KN kN
KN kN
kN kN
KN kN
kN kN




